BFC277 A AEAKRE (FAEIR)

J[SVAVA N VI A R 5 T I 4 W o2y | E | OB | E | BEOHE | IE | 8 | IE RG] e
L | E® & R | B a=T 7 8.950 | 9 9.800 | 2 | 9.800| I 9.850 | 1 | 38.400 | 1
2 |t H R N BN e KR T 9.450 | 1 9.600 | 8 9.600 | 2 9.300 | 9 | 37.950 | 2
3| HF MW B NS JUEEYa=Tk#EsF7 | 9.150 | 4 9.700 | 5 | 9.500 | 6 | 9.350 | 8 | 37.700 | 3
3 xR E N6 (VAR TT 9.000 | 8 9.700 | 5 9.550 | 4 9.450 | 5 | 37.700 | 3
5 | FM K &E| N6 [ ARLITT 9.350 | 3 9.500 | 13| 9.350 | 18 | 9.450 | 5 | 37.650 | 5
6 | /N TR S N6 LA XK T 9.150 | 4 9.600 | 8 9.200 | 25| 9.650 | 2 | 37.600 | 6
T | NS VA AR—YITT] 9.100 | 7 9.950 | 1 9.200 | 25 | 9.100 | 10 | 37.350 | 7
8 | W H B P a=T RR T 8.800 | 11 9.300 | 18 | 9.600 | 2 9.550 | 3 | 37.250 | 8
9 | fix R FE| /I3 |[LARERERITT 8.700 | 13 | 9.800 | 2 9.000 | 38 | 9.500 | 4 | 37.000 | 9
10 | BN A 4| /N6 Yo AR—Y 25T 8.600 | 14 | 9.600 | 8 | 9.400 | 10 | 9.050 | 13 | 36.650 | 10
10 | 4 28 K| 91 [ Hya=7 k77 8.100 [ 27 | 9.600 | 8 9.550 | 4 9.400 | 7 | 36.650 | 10
12 |16 % 1 K| /NS |+ a=T ks 77 8.400 [ 19 | 9.650 | 7 9.400 | 10 | 9.100 | 10 | 36.550 | 12
13 |81 H 5& b NS |ParAR—Y 7T 8.450 [ 17 | 9.750 | 4 9.450 | 8 8.800 | 17 | 36.450 | 13
14 | 1 HERE R [ParAR—Y 57 8.500 | 15 | 9.100 | 25 | 9.400 | 10 | 9.050 | 13 | 36.050 | 14
15 | KAl R A /N3 Rl =7 ek T 9.150 | 4 9.250 | 20 | 9.500 | 6 7.850 | 28 | 35.750 | 15
15 | il U e A| N2 | A=Y IAR—=Y 257 | 9.450 | 1 9.400 | 15| 9.300 | 22 | 7.600 | 34 | 35.750 | 15
15 | 1% #L+| /N5 [HUEBYa=T R #r57 | 8.350 |21 | 8.900 | 27 | 9.400 | 10 | 9.100 | 10 | 35.750 | 15
18 | I Z& 3f| /N6 BT 7 A 8.150 [ 25 | 9.600 | 8 | 9.400 | 10 | 8.350 | 21 | 35.500 | 18
19 | B 58 K| /6 [JB)Il=re ks 57 8.950 | 9 9.350 | 17| 9.450 | 8 7.600 | 34 | 35.350 | 19
20 3 K| NS [Par AR—=Y 257U 7.900 | 33 | 9.400 | 15| 9.400 | 10 | 8.550 | 18 | 35.250 | 20
21 | 1A #5 | /N6 NPOTEASoIEA#YF7 | 8.150 | 25 | 8.550 | 34 | 9.250 | 23 | 8.900 | 16 | 34.850 | 21
22 | &N B ¥ e LT T ik T 8.500 | 15 | 8.550 | 34 | 9.400 | 10 | 8.200 | 23 | 34.650 | 22
22 [T A KB /N5 LR Ya=TK#s57 | 7.850 (34 | 9.300 | 18 | 8.950 | 43 | 8.550 | 18 | 34.650 | 22
24 | EmH B MLy RR—=Y 5T 8.000 |29 | 8.700 | 31 | 9.200 | 25 | 8.450 | 20 | 34.350 | 24
25 | o HR | /N6 INPOTEAES-IEAMKEEF7' | 8.250 (23 | 7.700 | 59 |  9.100 | 33 | 9.050 | 13 | 34.100 | 25
26 | K B /NS | ARNITT 8.000 [ 29 | 9.200 | 21 | 9.150 | 32 | 7.600 | 34 | 33.950 | 26
27 | RANH FE & /N6 JBNE DM Z 7 8.800 | 11 8.200 | 48 | 9.400 | 10 | 7.400 | 39 | 33.800 | 27
28 | #1518 /N4 | BRIRER ZT A 7.250 | 44 | 9.500 | 13| 9.200 | 25 | 7.700 | 33 | 33.650 | 28
28 | =R fE HE| /N6 HLEBYa=T RIS 7| 7.950 (32 | 8.300 | 44 | 9.100 | 33 | 8.300 | 22 | 33.650 | 28
30 | BB OB M| e HEERSTTA 8.200 | 24 | 8.450 | 38 | 9.100 | 33 | 7.850 | 28 | 33.600 | 30
31 | | B % M| 2 |ParAR—Y777U 8.000 [ 29 | 9.200 | 21 | 8.950 | 43 | 7.350 | 40 | 33.500 | 31
31 | BmSE i K /N6 BN &K 57 8.450 [ 17 | 8.550 | 34 | 9.350 | 18 | 7.150 | 44 | 33.500 | 31
33 | ta BB ME M| /N3 |HRERT 7B 7.600 | 37 | 9.200 | 21 | 8.300 | 64 | 7.900 | 27 | 33.000 | 33
34 | A I = K| 1 | KT TA 7.050 | 49 | 8.550 | 34 | 9.350 | 18 | 8.000 | 25 | 32.950 | 34
35 | B F | M UREYa=TREsF7 | 8.300 |22 | 8.400 | 39 | 8.750 | 54 | 7.450 | 37 | 32.900 | 35
36 | HE R K —| /NS |Vl AR—Y7TT7U 7.700 | 35 | 9.150 | 24 | 9.050 | 37 | 6.950 | 48 | 32.850 | 36
37 | B R k| /B | ARNAVITT 7.600 | 37 | 8.750 | 29 | 8.950 | 43 | 7.350 | 40 | 32.650 | 37
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38 | 75 R AR RE| /N | FLIRT AT KRS T T 8.050 | 28 | 8.350 | 41 | 9.000 | 38 | 7.200 | 42 | 32.600 | 38
39 | v B K & /NG RS TTA 6.850 | 53 | 8.650 | 32 | 9.200 | 25 | 7.850 | 28 | 32.550 | 39
40 | R MK W3 | T KB T TA 7.450 | 41 7.950 | 55| 9.200 | 25 | 7.850 | 28 | 32.450 | 40
40 | BEEEOVW | T TR R T T A 7.650 | 36 | 7.900 | 57 | 8.950 | 43 | 7.950 | 26 | 32.450 | 40
12 |3t K — 3 M4 ARV 2R—Y 257 | 7.500 (39 | 8.750 | 29 | 8.900 | 49 | 6.800 | 50 | 31.950 | 42
43 | I K| NS | B =7 /F 7| 7.300 |43 | 8.350 | 41 | 9.000 | 38 | 7.100 | 45 | 31.750 | 43
44 | F R ]| N2 [P AR—Y 7T 7N 7.200 | 45 | 8.200 | 48 | 8.850 | 50 | 7.450 | 37 | 31.700 | 44
45 | kB A e ) B2 fLRT T kR T 7.500 | 39 | 8.300 | 44 | 9.350 | 18 | 6.450 | 59 | 31.600 | 45
46 | & W KA N3 |V AR—Y 757N 6.900 | 52 | 7.750 | 58 | 9.000 | 38 | 7.800 | 32 | 31.450 | 46
47 | E R F R N3 [VarAR—YIFTU 7.100 | 46 | 8.250 | 46 | 9.000 | 38 | 7.050 | 46 | 31.400 | 47
18 | & W K 8| /N5 | T 4K T B 7.000 | 51 8.000 | 54 | 7.950 | 67 | 8.050 | 24 | 31.000 | 48
49 | SF I fE ] N | ENEOMEER T T 8.400 [ 19 | 8.100 | 52 | 8.950 | 43 | 5.400 | 64 | 30.850 | 49
50 | | NS [Var AR—Y TN 7.100 | 46 | 8.600 | 33 | 8.400 | 63 | 6.650 | 55 | 30.750 | 50
51 [ 10N B ) /N5 | BT =7 257 6.800 | 54 | 8.200 | 48 | 8.700 | 57 | 6.700 | 53 | 30.400 | 51
52 | MK # AT| 2 [T Ak Z 7B 6.000 [ 60 | 8.100 | 52 | 8.750 | 54 | 7.200 | 42 | 30.050 | 52
53 | KB H K| e | B/ a=Tk#r57 | 5850 |62 | 8.150 | 51 | 9.200 | 25 | 6.800 | 50 | 30.000 | 53
54 | K jf #&—RR /N6 |HAER2 77 B 7.100 | 46 | 8.250 | 46 | 8.850 | 50 | 5.750 | 62 | 29.950 | 54
55 | AS B LA /NS | ARSI TT 5.600 | 66 | 9.000 | 26 | 8.600 | 58 | 6.700 | 53 | 29.900 | 55
55 | @K MU R| /N6 [ BN =T IR Z7 | 5.250 |68 | 8.400 | 39 | 9.250 | 23 | 7.000 | 47 | 29.900 | 55
57 | B fE| 1 |9 KT8 6.450 | 56 | 7.950 | 55 | 8.850 | 50 | 6.600 | 56 | 29.850 | 57
58 | I 8 | NS | F BT a=T IR T 6.200 | 59 | 8.350 | 41 | 8.450 | 61 | 6.800 | 50 | 29.800 | 58
59 | RF O KR /M (FLRT VT kT 7.450 | 41 | 6.400 | 68 | 8.950 | 43 | 6.850 | 49 | 29.650 | 59
60 | KW A 1| FTEIr BT TA 6.700 | 55 | 7.050 | 65 | 8.850 | 50 | 6.600 | 56 | 29.200 | 60
61 | 38 )1l F1 K| /b4 A2 Z7B 7.050 | 49 | 7.450 | 61 | 8.600 | 58 | 6.050 | 61 | 29.150 | 61
62 | B AF B & 1| BRIV =T (KR T T 5.200 | 69 | 8.800 | 28 | 8.600 | 58 | 6.200 | 60 | 28.800 | 62
63 | B AE 0 B 1| TRy 7 7B 5.950 | 61 6.850 | 66 | 9.100 | 33 | 6.550 | 58 | 28.450 | 63
64 | e 8 40 BE| /N5 | BREDERERY =7 /F7| 6.350 | 57 | 7.300 | 62| 8.450 | 61 | 5.750 | 62 | 27.850 | 64
65 | & T R | /N6 AHR—YIAR—YZ7F7| 6.300 |58 | 7.100| 64 | 8.750 | 54 | 4.600 | 67 | 26.750 | 65
66 | P8 18 £ F| 4 AR—YIAR—=YF7 | 5700 |64 | 7.650 | 60 | 7.900 | 68 | 4.800 | 66 | 26.050 | 66
67 | /NTE M N| N ARV IAR—Y 57| 5650 |65 | 7.150 | 63 | 8.150 | 65 | 3.650 | 68 | 24.600 | 67
68 | KWE KM /N3 (LYY AR—=YITT 4.000 | 70 | 6.800 | 67 | 8.050 | 66 | 5.050 | 65 | 23.900 | 68
69 | + B ZE| /I | AR—YIAR—Y 57| 5750 (63 | 5.250 | 70 | 7.750 | 69 | 3.000 | 69 | 21.750 | 69
70 | KB Om | NS [(AR—YIAR—Y2T77 | 5600 |66 | 5.450 | 69 | 7.400 | 70 | 2.000 | 70 | 20.450 | 70




